#ERAZ / Components

No. %5 / Part name | $8E / Pcs #MHE / Material & - RELIE / Color-Finish
1 JavkR)L 1 7 JLE4R A1050P ATFAVYNIN =T WAL, ATFTAVT F9IT NI
* :‘AE';{E%@%F&I:EEU {Tﬂ_}.—c%ij—o Frontupanel Aluminium A1050P Hairli'ne brushed ‘silver anodized , Hairline brushed black anodized
* Adhesive rubber feet in cluded. 2 YT 3R 1 7 JLE4R A1050P YN=TLAL, 77997 b4
Rear panel Aluminium A1050P Silver anodized , Black anodized
3 HARTL—L4 2 T IV AT A6063S-T5 TV TIIEE
Side frame Extruded aluminium A6063S-T5 Gray painted , Black painted
4 JavkIL—L 2 TIVEIRH A AB063S-T5 TV-BE ThBE
Front frame Extruded aluminium A6063S-T5 Gray painted , Black painted
5 YFIL—L 2 T IV AT A6063S-T5 YN=TFI3Ab
Rear frame Extruded aluminium A6063S-T5 Silver anodized
6 _EH7s3—/ Top cover 1 7 JL2HR A1100P / Aluminium A1100P AN - | 7599 / Light gray painted , Black painted
TF#H735— / Bottom cover 1 7 JL2HR A1100P / Aluminium A1100P AN V- | 759hFEE / Light gray painted , Black painted
8 a—F—Juvy 2 FIEH ¥Rk ADCI2 U 7R
Corner block Diecast aluminium ADC12 Gray painted , Black painted
9 V724—k 2 BUAMEABSHIRE UL94V-0 V=, 7399
Rear feet Flame-resistant ABS UL94V-0 Gray , Black
10 L / Rubber feet 4 Ry A / Polyurethane 779 / Black
" HfHE R (M4 x 6 H3) 4 % =ffiyni-t
Screw (M4 - 6 Countersunk) Steel Trivalent chromate
12 BAFER (M4 x 8 FR) 8 % ={EHni-+
Screw (M4 - 8 Pan head) Steel Trivalent chromate
13 HAFE R (M4 x 10 /3 UF) 4 % =ffi&RIRA-+
Screw (M4 - 10 Binding head) Steel Black trivalent chromate
14 NUFBRF 1 RILE— : PC + ABSHifE V=, 79
FUvT Frvd PPHlE + TSAMY  |9L-, 759
Carrying handle Holder : PC + ABS Gray , Black
Grip , Blind cap : PP + Elastomer Gray , Black
15 BATE R (M4 x 14 FX) 2 % Zffiynr-+
Screw (M4 - 14 Pan head) Steel Trivalent chromate
16 BEIEFvh / Slide nut 2 RYTFLY  HL®3S / PE, Brass 7399, =yl A% / Black , Nickel plated

* N\URRFEEEOMEICEETEET .

* Carrying handle location can be freely affixed within denoted range.

=S — =

L

BT =h)LT—% / Technical Datall

HYF Mt E / Carrying handle Maximum load : 20kgf %/ Title
TAKACHI] #XR#SHFERTE NURIREMS RTF L —Z O]
BER (B FERED) / Color type (End of product number) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. DESKTOP ENCLOSURE with CARRYING HANDLE -
i85 / Code JS#JL / Panel | £ TF5/8— / Top - Bottom cover | /K7L —.L / Side frame | /\>»FEXFE / Carrying handle #2/Approved %[/ Checked R/ Created #42&/Product number RE/Seale
G 2 )LiN— / Silver SAKJL— / Light gray 5'L—/ Gray 4'L— / Gray MOY66-26-230
B IS4 / Black J5w4 / Black J5v% / Black IS4 / Black x Eaza) i\ s
BS < JL1S— / Silver J59% / Black 7594 / Black 754 / Black {EfE/Date  2018/02/02




12.5

20

10

20

B-B(1:35)

—_—

230

230

n

m

HARIL—L1 / Side framel

66

6.1

1)727L—LA1 / Rear framel

3.5

A-A(1:35)

H3h~Ti% / Max dim. 205

A2 kI —L1 / Front framel

C-C(1:35)

—

EH#ti% / Max dim. 61

AH#h~T% / Max dim. 239

)7L —L2 / Rear frame2

260 11
|e A B 1975
- = | : 5 Pen T
[c] ®
] 8| = s [z o
; ) B L{
7 7
-
HARIL—L2 / Side frame2
AV I —L2 / Front frame2
O |
20.6
] © LU % /Title
g HREHINTFBHIR RUFBERRT L — o]

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

DESKTOP ENCLOSURE with CARRYING HANDLE

2 /Approved

%[/ Checked

T

R/ Created

A

24 /Product number RE/Scale
MOY66-26-2301 1:3.5
{ERLH/Date 2018/02/02 2 /8




0>k JL / Front panel

$~ti% / Max dim. 50

7
%

ol

F#h~ti% / Max dim. 230

JNF LR / Panel Frontside

1J7 754U / Rear panel

<tk / Max dim. 49.5

7
X

ol

H#~T% / Max dim. 230

JXFJLEKE / Panel Frontside

RS —HMA

Surface protective film side

AFSAUF

Hairline brushed direction

REES—MA

Surface protective film side

56

55.8

233

/N JLEE / Panel Backside

238.5

JNRJLEE / Panel Backside

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

R4/ Title
AR YT IR

Front panel , Rear panel

o]

738 /Approved

X/ Checked

T

X /Created

A

24 /Product number RE/Scale
H66 — W260 1:2
feFE/Date  2018/02/02 3/ 8




197.5 10

2-@4.2
2-@5 4-@45
2-M4
i = —]
\J \J \J P‘Jj :: \J A4 A>3
02 Ml / Front side s 3 § g =@ L[J]
ke — ———
s — 7 — —
5 15 2 5 H AT —L1 / Side framel
35 117.5

Z0Mal / Front side

HARIL—L2 / Side frame2

G/ Title
[TAKACHI) #&itshFBHIE HARTU—L O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Side frame
7 8/Approved [/ Checked HB]/Created | Z4F/Product number RIE/Scale
H66 — D230 125
e L2 0) 48
1R B /Date 2018/02/02




30

233

o) o)
L% A9
223
o) o)
\¥ \Y

R4

20

2-M4RHY S}
2-M4 Countersunk

AV bkIJL—L1 / Front framel

78> bkJL—1s2 / Front frame2

[TAKACHI) #=t&itshFBHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

G/ Title
JaVkIL—L4

Front frame

o]

7R/ Approved

X/ Checked

T

X /Created

A

FIF /Product number

W260

RE/Scale
1:2

{ERL B /Date 2018/02/02




20

241

Ens

M4

ens

I=|

1)727L—L1 / Rear framel

|=i

1J72L—12 / Rear frame2

G/ Title
TAKACHI) #XaitanFE@TE YFIL—Ls O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Rear frame
A2/ Approved #&[X/Checked #[X/Created 1% /Product number RE/Scale
W260 12
£ e
fFAE/Date  2018/02/02 678




6.75
—

15

229.5

256.5

199.5

H3h~Fi% / Max dim. 239

R4.5

AH#~ti% / Max dim. 1675

12

6.5

am/Title
TAKACHI| #HXR#ShFEHTE Fha— @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
7 8/Approved X/ Checked X /Created | E!F/Product number RIE/Scale
W260 - D230 1:25
x Eaza) 7,8

{ERL B /Date 2018/02/02




6.75
—

15

229.5

256.5

199.5

H3h~Fi% / Max dim. 239

R4.5

AH#~ti% / Max dim. 1675

12

6.5

[TAKACHI) #=t&itshFBHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

Mm%/ Title
Thi—

Bottom cover

o]

7R/ Approved

%[/ Checked

T

R/ Created

A

24 /Product number

W260 - D230

RE/Scale
1:25

{ERL B /Date 2018/02/02




